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Understanding of one’s own thought process is called as
1. Meta cognition

2. Intelligence

3. Creativity

4. Directed thinking
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This law encourages giving assignments and homeworks to
children

1. Law of Effect

2. Law of Readiness

3. Law of Exercise

4. Law of Reinforcement
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The factor that influences learning, related to learner

1. Teaching methods

2. Learning resources

3. Learning environment

4. Mental Health
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The book “Mentality of Apes” was written by

1. Francis Galton
2 W.C. Bagley
3. Kohler

4 Bruner

“Mentality of Apes” &3 HRE S50
L @R oS
W.C. en
(9p]
§arob

~owN

leoeSE



Using learned concept in a new situation is called

1. Knowledge

2. Evaluation

3. Understanding

4. Application
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As per Vygotsky, Outer speech seen in children is useful for
Enjoyment

Communication

Self direction

Learning language
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Play grounds, Public parks, Libraries are

1. Self resources

2. Community resources
3. Technology resources
4. School resources
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Ability to suggest multiple solutions to a problem is

1. Convergent thinking

2. Active thinking

3. Passive thinking

4. Divergent thinking
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Temporary storage area in a computer

1. RAM
2. ROM
3. Hard disk

4. Floppy disk
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Thinking, creativity, Intelligence are
1. Aptitudes

2. Intellectual abilities

3. Skills

4. Physiological traits
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12.

Forcible forgetting is called
1 Inhibition

2 Repression

3. Amnesia

4. Feud
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Language development comes under this development
1. Mental

2. Physical
3. Social
4. Moral
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A stage in which emotions are displayed at a higher level than
required to stimuli

1.

N

3,
4,

Pre childhood
Neonatal Stage
Infancy

Late childhood
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A learning curve that occurs when a student’s performance
increases over a time

1.
2.
3.
4.

Negatively accelerated curve
S — Shaped curve
Typical learning curve

Positively accelerated curve
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Dysphasia is a

1. Reading disability

Writing disability

Speech language disability
Arithmetic disability
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Counselee centered counselling among the following

1. Directive counselling

2. Non — directive counselling
3. Eclectic counselling

4. Psychological counselling
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‘Insightful learning’ takes place through

1.
2.
3.
4,

Problem solving method
Demonstration method
Lecture method

Trial and Error method
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Interests are

1.

Innate only

2. Forms through conditioning

3. Innate and acquired

4. Acquired only
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The factor that is useful to identify our children even in a large

crowd is

1 Interest

2. Context

3. Previous experiences
4 Familiarity
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National Testing Agency
Non Testing Agency
National Tribal Academy

National Training Academy
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This will not happen in group discussion.

1. Exchange of ideas

N

Development of Communication skills

W

Mechanical Learning

b

Development of self confidence
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“High expectations of the teacher leads to the better
performance of the Students” - This phenomenon is called

1. Halo effect

2. Pygmalion effect

3. Zeigarnic effect

4. Achievement effect
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In general, the memory which we use to learn poems
and tables

1. Active memory

2. Rote memory

3. Short term memory
4. Logical memory
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Hypothetic — deductive reasoning is the characteristic feature
of this stage

1. Pre — Operational stage

2. Sensory — Motor stage

3. Concrete — Operational Stage

4. Formal — Operational Stage
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26.

Evaluation takes place in this teaching phase

1.

2.
3.
4

Post active phase
Pre active phase
Interactive phase

Classroom active phase
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Teacher is conducting experiment on “The effect of ICT based
learning on the achievement levels of the children” Here
dependent variable is

1.
2.
3.
4.

Conducting experiment
ICT based learning
Achievement levels of the children

Students & Teacher
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The process of keen observation and understanding in Kolb’s
learning cycle

1. Active experimentation

2. Abstract conceptualization
3. Concrete experiences

4. Reflective observation
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Auditory learners learn easily through

1. Listening
2. Speaking
3. Reading
4. Writing
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In pre-conventional level, Moral behaviour of a person is
governed by

1. Fear of punishment

2. Person’s conscience

3. Approval of others

4. Laws and morals
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Radhika neither wants to do homework nor get punishment
from her teacher. The conflict here is

1. Approach - Approach

2. Avoidance - Avoidance

3. Approach - Avoidance

4. Double approach - Avoidance
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61.

62.

63.

64.

Identify the grammatically correct sentence:

1. Every students is intelligent in the class.

2. Every student is intelligent in the class.

3. Every student are intelligent in the class.

4 Every of the students is intelligent in the class.
Rachel her free time listening to music.

Choose the correct verb form that fits the blank.

1.

2
3.
4

spend
spending
spent

spends

Identify the term that refers to the study of handwriting.

1.

2.
3.
4

Graphology
Calligraphy

Typography
Orthography

Choose the correct modal verb for making a polite request.

1.

2.
3.
4

must
can

would
should



Choose the correctly capitalized historical event:
1. World War i
2. World War 1
3. WORLD WAR i
4

World war 1

Identify how dialogue tags should be used according to best
practices:

1. They should be elaborate and descriptive

2. They should always include adverbs like “angrily” or
“gently”

They should be simple such as ‘said’ or ‘asked’.

4. They should be omitted entirely for clarity.

Choose the sentence that is in the past continuous tense:

1. She sings in the choir.

2 They were watching a movie.
3. He will play soccer tomorrow.
4 I have finished my homework .

Identify the negative form of the future tense:

1. Subject + did not + base form of the verb
2 Subject + was not + verb + ing

3. Subject + had not + verb + ing
4

Subject + will not + base form of the verb
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70.

71.

72.

Choose the correct sentence type: “Do you like ice cream?”
1. Declarative
2 Imperative
3. Interrogative
4

Exclamatory

He missed the train, so he was late to work.

Choose the sentence that correctly transforms the compound
sentence into a complex sentence:

1. He was late to work because he missed the train.
2 He missed the train because he was late to work
3. He was late to work, but he missed the train
4 He missed the train, and he was late to work

Select the conjunction typically used to introduce
a subordinate clause:

1. and

2 because

3. or

4 yet

The team has well prepared for the project. , they

managed to finish it ahead of schedule.
Choose the option that fits the blank.

1. Nevertheless

2 Because

3. Consequently
4

In addition
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Choose the correct sequence of the words in which they occur

in a dictionary.

1.

ii.

iii.

b=

memory
mention
moment
mercy

1, 11, 1v, 1ii
11, 1, 1ii, 1V
1v, 1, 11, 111

1, 1ii, 1v, ii

Choose the correct spelling of the word.

1.

2.
3.
4

Select the sentence that uses the indefinite article in apposition

helicapter
helecopter
helicaptre

helicopter

phrases:

1.

2.
3.
4

The lion is fierce.
Tagore, an Indian poet, wrote ‘Gitanjali’.
A dog is faithful.

They were of a size
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77.

78.

79.

He moved his hometown.

Choose the correct preposition that fits the blank.
1. by way of

2 in addition to

3. in front of
4

away from

“How can you possibly imagine he’s a crook? He looks so
ordinary!”
Choose the synonym that means ‘ordinary’:

1. regular

2 unusual
3. common
4 unique

Our visit to the National Memorial began with our teacher
explaining that even after independence, India has had to fight
many wars to protect itself.

Choose the antonym of the word ‘protect’.

1. guard

2 defend
3. squander
4 shield

Select the correct indirect form of:

Alice said, “How clever I am!”

1. Alice said that she was very cleverer.

2 Alice exclaimed that I was very clever.

3. Alice exclaimed that she is very clever.

4 Alice exclaimed that she was very clever.
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82.

Choose the phrasal verb which means “to tolerate or endure

something unpleasant.”

1.

2
3.
4

look forward to
run into

put up with
bring about

Kate looked at Joe; Joe looked at Kate.
They looked at :
Choose the option that fits the blank.

1.

2.
3.
4

themselves
himself
one another

each other

Choose the sentence that uses an adverb correctly.

1.

2.
3.
4

She is a careful driver.
The flower smells sweet.
He performed well on the test.

This is a sudden change.



83.

&4.

Read the following passage carefully.

Indian cuisine is renowned for its rich flavours and variety.
Dishes like biryani, with its aromatic spices, and dosas, crispy
rice crepes, offer a taste of regional specialities. Street food,
such as chaat and samosas, reflects the culinary creativity
found across the country. Each meal tells a story of India’s
cultural heritage through its unique ingredients and preparation
methods.

Street food like chaat and samosas reflect India’s

1. culinary creativity

2 historical monuments
3. regional practices

4 fashion trends

Read the following passage carefully.

Indian cuisine is renowned for its rich flavours and variety.
Dishes like biryani, with its aromatic spices, and dosas, crispy
rice crepes, offer a taste of regional specialities. Street food,
such as chaat and samosas, reflects the culinary creativity
found across the country. Each meal tells a story of India’s
cultural heritage through its unique ingredients and preparation
methods.

Identify the dish that is described as a crispy rice crepe:

1. Biryani
2. Chaat
3. Dosa

4 Samosa
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86.

87.

88.

Identify the type of listening that involves listening for
enjoyment

1.

2.
3.
4

Casual listening
Focused listening
Appreciative listening

Gist listening

Identify the method of teaching reading that focuses on whole
words, phrases, sentences or stories:

1.

2.
3.
4

Mechanical methods
Synthetic methods
Numeric methods

Telephonic methods

Identify the component that involves general assumptions
about language teaching and learning.

1.

2.
3.
4

Method
Technique
Approach

Procedure

Identify the interactive activity encouraged by CLT.

1.

2.
3.
4

Translation exercises
Role plays
Silent reading

Grammar drills
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90.

Identify the primary focus of the National Policy on Education
(1986) regarding language skills.

1.

2.
3.
4

Using English as the only medium of instruction.
Improving language skills at various education stages.
Eliminating the study of international languages.

Reducing the importance of regional languages.

Choose the best option that fits the blank.

Bloom’s Taxonomy includes the domain, which
focuses on knowledge, comprehension and application.

1. Affective

2 Psychomotor

3. Emotional

4 Cognitive



91.

92.

93.

The number of sides of a regular polygon whose each exterior
angle has a measure of 45°
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Area of a rhombus whose diagonals are of lengths 10 cm and
8.2 cm is (in cm?)
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94. A football team won 10 matches out of the total matches they
played. If their win percentage is 40% then the number of
matches they played in all
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95.  The mean of integers which lie between —4 and 4 is
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98.

99.

a’=2ab+b’ =’ =

1. (a=b-c)(a+b+c)
2 (a=b+c)(a+b+c)
3. (a=b—=c)(a+b-c)
4 (a=b—=c)(a=b+c)

The value of an article decreased from 32400 to ¥2000. The

percent of decrease is
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1. 16l
3
2. 16g
3

20

4. 25

Foracube, F+V =

(F — Number of faces)
(V > Number of vertices)
28 o, F+V =

(F - Svogre éogpg)
(V- &ovo o%y)
1 12
2 13
3. 14
4 8



100.

101.

102.

Area of the circle of radius 7 cm is (in cm?)
7 0.2 F§E0 Ko S8 JTeg0 (5.200.0. ©F)

1
2.
3.
4

154
49
145
14

Perimeter of an isosceles triangle is “8p—1" and non-equal
third side length is “4p—7", then the length of equal side is

a8 26353(5523""55‘0 (EIAMAe) B0, iiaéae%?@eﬁ “8p—1"" o83
BSTSOM B ooES 200 Fod “Ap-T eo0d DS
o8 SORS 20280 PED

15

1
2.
3.
4

2p-3
2p+3
3p—2
3pt+2

i 7x =9 then value of ‘X’ is

15

7x=9 ond X Jens

Wl pw



103.  Which of the following is a perfect number
808 >AE° HEY°Y R0;

1. 16

2. 24

3. 28

4. 32

104. The cube root of 3375 is
3375 &oﬁzy PSORMINELLIS NG

1 15
2. 25
3. 35
4 45

105. Total days in the years 2023 and 2024 are
2023 o8 2024 603595‘\)6"665‘63 o 8eren

1 730
2. 731
3. 729
4 732

106. Curved surface area of a cylinder with radius 7 cm is 308 cm?,
then the height of the cylinder is (in cm)

7 0.2 F§rEo SORS BFH0 S|S0 JFeg0 308 $5.20.2.
Bond & JTH0 I, (0.20.08)

1 7

2. 14
3. 21

4 2156
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25
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108. Mode and Median of data 3,7, 7,3, 1, 6,3 is
83r0¥0 3,7, 7, 3, 1, 6, 3 B e S0EES0 o830

;53&55Ke§;5a>
l. 3,3
2. 3,6
3. 3,7
4. 3,1

109. Tirupathi express reaches Bhimavaram at 23:40 hrs. Time in
12 hrs format is

BHH IEYRS 23:40 oD NHILO THE 0. & VAo
12 Koo &%08°

1 11:40AM
2 11:40PM
3. 0:40AM

4 11:20PM



110.

111.

112.

If 5% of x is 600 then x =
x S° 5% Jens 600 ©ond x =

1. 12000
2. 3000
3. 120
4. 30

) | 1 2
Simplify —+|——+=
implify - |: 3 5]

1. |:_l+3] 5 moé&%oﬁocﬁ.

2 375
TS
12
2. +é
4
3. - L
30
4, -3
5

There are two cubes with sides 1cm and 2cm. The difference
between their volumes is (in cm’)

120.25. 558050 220.20. 2heeenie Ko Bosd oaren 0.
T PTIVITETR M S5O0 (9. 0.2, o&°)

1 7
2. 8
3.9
4 1



113.

114.

If the number 687C29 is divisible by 9 then the value of 2C is
687C29 &3 Sopg 93 arRosnds 2C Bl Jeos

l. 2
2. 3
3. 4
4. 8

Probability of getting an ace card form a well shuffled deck
of 52 playing cards is

2O E0H20&S 52 '§a§;533§zre> 5 00D a8 ST
d55°c53£)13§ozr° A1 @O st"dCJB IO HORTHGES

1.

(98]



115. 25%36=

Which form of question is this?
1. Question form

2. Analogy form

3. Association form

4. Completion form
25%36=

2 %) 9 5508 BoBsH
1

116. “Mathematics is the Science that draws Conclusions” These
are the words of

1. Aristotle
2. August Comte
3. John Lock

4. Benjamin Peirce
“HEBSBH0E 9IHES AT g FRo” @
K)czsfboi):s ;8
1. 93X RS
5]
2 sk §%)
e [>5)
3 & e°§
4. BoBSS 2N



117.  One of the following is not related to Formative Assessment.
1. Students participation, responses
2. Unit test
3. Project works
4. Slip test
808 TAS® Ao° e ) HA0YSLH 2022090518
1. DYO APKIYIG0, (DBVYoESeD
2. o H8%
3. (r&E§ dven

4, OR0 Zaég

118. According to Activity method, ‘reading’ activity belongs to
1. Mental activity
2. Direct experience
3. Oral activity
4. Non — vocal activity
EYTIES DES (95750, WESE0 &N E)B50
1. STIDE SR
RRIR RSN
NS SN

L

NS ol )50



119. As per Krothwal, the objectives of Affective domain are
a. Responding
b. Valuing
C. Constructing
d. Classitying
e. Characterizing
S E>S (3560, arFRISORS™ oFgen
a. (D8D)0b0sE0
b. ASRNSlete
C. NS &oiﬁc‘éo
d.  58sBowso
€. @§€%§6€’BO

1. a,b,e
2. b, c, e
3. b,d, e
4. a,b,c



120.

Rajesh, a 7" class student ‘Suggests Different Methods” for a
problem solution. Through this the objective achieved is

1. Remembering
2. Application
3. Understanding

4. Skill

OB 93 75 SEKD Y 28 DI 35S “DES
SPBOB BrDoBROE.” 8 oo JOOSKOAS 550

1. 238 @mﬁ%czo
a‘-_D
QOB KO

[ DINTAR LN

L

é@s@so



121.

122.

Nature of image formed by a convex mirror is

1.

2.
3.
4.

Virtual and enlarged

Real and enlarged
Virtual and diminished

Real and diminished

0TS $)Easn YT (98D02y ©FEIN

1.

Ll

ZbGSZS 30835 DEE
D2 083 DE
333&55 080 WH
Q2 0850 VH

Incorrect statement among the following

1.
2.

3.
4.

Like poles of a magnet repel each other.

Freely suspended bar magnet always points toward
North-South direction.

Attracting ability of bar magnet is more at centre.
Natural magnets were discovered in magnesia.

808 F5g8 905

1.

eﬁoﬁoé"boéo SBoo¥),. ¥Verd C5°>J°QD 2,55
§)§§Ao£53§ao¢5°oao.

RE)T (BOrEBDS SoEEOIY0B0 IPHPED
GET-G5E GO WY,

E50EAHIY, 08 es8Yer Y0 FEgrKoS”
QB0 6otwod.

NP2 90O 0w DHRATE® SHA TN,



123.

124.

The pressure acting on the body and area of contact are

1. directly proportional
2. inversely proportional
3. equal

4. having no relation

2.5 599 P DT 2EI0 50805 V)RS FTorgeo
1L oSS srsraos’ doeron.

2 ASTSTTS08° doeomn.
3. ¥%es0

4 $02050 B

Study the statements and choose the correct option

Rajesh: Wood do not catch fire on its own at room
temperature.

Rakesh: Wood has low ignition temperature.

1. Statements of both Rajesh and Rakesh correct
2. Statement of Rajesh correct, Rakesh incorrect
3. Statement of Rajesh incorrect, Rakesh correct
4. Statements of both Rajesh and Rakesh are incorrect

808 g $B HOBOS T oY TAHod.

CBER KO SPUS 5 To ST0S0 ST 50055,
OB SN oS GLHS S

L o83 50050 083 380 (PEeSen TS
OB (PES ¥BIY, TSR ¥JIH 5O
OB (PEES DBIH 50, TSR DBSH

Ll

ORI 2B OB JEO (PGS0 FJI 52



125. The planet with highest period of revolution is

1. Mercury
2. Jupiter
3. Uranus
4. Earth

Q¥ JB(F0es 3P0 Ko (50

1 22063080
2 2 ‘;7°26°)®
3 30BID
4 ALV

126. Identify the correct Natural Scavengers from the following

a) Pig b) Vulture
c) Fox d) Rat

1. aand b

2. b and d

3. aandd

4. bandc

$o8 TIS° KBS B FOBH] SOYHOM KBS,
a) 208 b) O°2008)

c) S8, d) SenE

1. a8 b

2. bx8cswd
3. a3ndan d
4. bo8csw ¢



127. The nutrient helps in keeping our eyes, bones, teeth and gems

healthy is

1. Vitamins

2. Carbohydrates
3. Fats

4. Roughages

S ELY), Sosen, S0P 538350 {’)KJ%Q e366?§§ozr°
E0SE0S® BB80HDE DPRKO

1. Z)ea;’bé%

2.  sEyFTEdw
3. &9y

4. I

128. The Vessels having valves are

a) Blood capillaries b) Veins

c) Lymph vessels d) Arteries
1. aand b

2. candd

3. aandd

4. bandc

E0¢een SORS Seeeen

a)  SESII98en b) e

c) 0D Jrween d) S

1. a8 b
2 cvdadww d
3. a8 d
4 b S8 ¢



129. The fight or flight hormone is

1. Testosterone
2. Thyroxin

3. Adrenalin

4. Somatotrophin

DPoeey B HOPAS 3855&3? SO AT :5566&5

L &Fos

2. BodR

3. oGSO

4. FrSIESHS

130. In 1970s Chipko movement is very famous. What is the
meaning of “Chipko” in Hindi

1. Embrace

2. Entwine

3. Encourage

4. Engage

19708° D), &55500 JoS" |0 Fodod. rob”
DN, oS

1. Tee88°%5e0

2. eowssEo

3. (FEyrosio

4. QB0



131. The micro-organism that causes the foot and mouth disease in

cattle

1 Virus

2 Bacteria
3. Fungi

4 Protozoa

BHYHS? MOK0LNTIRA SOAOT xmg&é:b

L S
2.  @rSooir
3.  8dogo
4. @SS

132.  We can get information of the entire world in the form of print

through

l. News paper
2. Radio

3. Tape recorder
4. Television
B0 (PH0T FYO®, HITToY) Podrnod” B axo
FOLIN)

1 EONITEN

2. V&I

3.  &%05°86

4. BOJS



133.

134.

The Ocean to the west of the North American continent is

1.

»

3.
4.

Atlantic Ocean
Pacific Ocean
Arctic Ocean

Antarctica Ocean

SBY 05 PO DY B S° Ko HFEI0|EO

1.

L

@038 SIS0

$2E $IE%0E50

eﬂazréf)g NSRS (nfe)
eﬁowab_éﬁs" NOPOL NN (e

Find out the correct statements in connection with Satavahanas

a.
b.
C.
d.

Capital city of Satavahana was ‘Dhanyakataka’
Satavahanas had trade relations with Rome
Yagnasri Satakarni had a title of ‘Trisamudradheeswara’

Satavahanas adopted Hinduism

TS ITOL D0WOPO) VTS SO Kook

a.

b.

Ll A .

PEITNO TR ‘c5°as§§ea§o’

PETTOLH §°R0 o0 S” gard D0OTTRY GOG
BRS0THRS &S heH gl TS5 Sok
TSI T TOET SE°R) WIHDF0TED.

a,b,c
b, c,d
a,b,d
a,b,c,d



135. The following state in India through which the Tropic of
Cancer does not pass is

1. Gujarat

2. Mizoram

3. Chhattisgarh
4. Assam

PTESTFOS” s (308 TIHO K0T KB 60 (HAITEI0SLLD.

1L Kmoes
2. &o
3. 3”&
4. 6:93‘:\)0

136. Currently, the total number of elected members in the
Rajya Sabha is

ragRRS” (P80 F0080 ISNTWES Dabge VoRs
1. 233
2. 245
3. 235
4. 243



137. Find out the incorrect statement regarding the Buddhism

138.

1.

The teaching of Gautama Buddha are called ‘Arya
Satyas’

‘Trirathnas’ are the holy books of Buddism
Gauthama Buddha achieved his Nirvana at Kushinagar

According to Buddha the final goal is attainment of
Nirvana

F°EF0@§ 2020801 HOSA IS H90W0s.

1.

L

Roe550 20600 ANAIVSIG (SIS CURETEL o

TEDHS DG Horren @8apen’

R0 206965 8:5558° DovgE0 FOTTED.

2360 (PS°B0 Brsﬁg} FEOIEI B DESTS0
(es] @ (e}

The Bhilai Steel Plant was set up with the help of this country

1. Britain

2. Germany

3. America

4. Soviet Russia

DO JRI0 - S, TOYTEI B3 BY ST5BoS’
%iaoisza&o&.

L e

2. 238 &i)

3. 93083

4, B 52



139. India lies in Eastern hemisphere between the longitudes of
1. 14° 27" — 19° 07' — East longitudes
2. 68° 7' —97° 25' — West longitudes
3. 8°4'—37° 6' — East longitudes
4. 68° 7' —97° 25" — East longitudes
TBSTI0 JroRPR oS e Tgrode $0655 IP0D &od

1. 14°27' —19° 07" - S8y Bgroaren
2. 68°7' —97°25' - 383> Bgroaen
3. 8°4'—37°6' - Sr&h) Bgroaren

4. 68°7' —97°25' - S350 Bgroaen

140. The Scheduled Castes and the Scheduled Tribes (Prevention of
Atrocities) Act, was made in

S Heren, WERES Bro (wegd AEEE) SYo
BOSoES DOSBYS0

1. 1998
2. 1992
3. 1988
4. 1989



141. Find out the mismatched pair

1. First Indian woman scientist to receive the Padma Shri
Award — Janaki Ammal

2. First Indian woman to enter space — Sunitha Williams
She is called Lady sachin — Mithali Raj

4. First visually challenged IAS officer in India - Pranjal
Patil

RIS ETIIN O CloToInToteck

L 383 08 eotHy) 06 ersdcs Soire
PRS- S wsmy§

2. 08050858 eHDRS &0 G HTY -
RO DOAN)

3. B B4 303 DenseEd - Ledod

4. rESGE0S Incd SRSH0 &) 1AS 050 -
oz FeS

142. The minimum population to establish a Nagar Panchayat is

SKE DoT00d bc°°)¢w§o SS50RS D0 macer

1 5000 - 10000
2. 20000 - 40000
3. 40000 - 300000
4 50000 - 500000



143. Two hundred and Ten Frost free days are required for this crop

1. Jute

2. Coftee
3. Tobacco
4. Cotton

BOL SOBO HO o0 HIWI 8%ren B9SVTIOS Do

1. BIII*E
2.

3 S

4 P2

144. Telineelapuram Bird Sanctuary is located in
1. Vizianagaram
2. West Godavari
3. Srikakulam
4. Y SR Kadapa
BOTYBO DY VoUFET SolFo B RS Kok

1L decHsKso
2. DA
3. @zmo

4. P00[esE &9



145.

146.

“Concepts in Science are broad generalizations regarding
some aspects of physical or biological world” - this was

quoted by

1. Gagne

2. Karl Pearson

3. James B. Conant
4. J.B. Novak

"B F'AE Bor AIT(R ($90T°08 50220800
D IrgETETB S F(R0S” IS 0 BOVIA.

1.

Lol

R

58 5088
B0) B. ool
JB. 38

This is not an advantage of deductive approach

1.

2.
3.
4.

The workload of the teacher will be reduced

Students will use the created formulas in their daily life
This method is useful for lower classes

It emphasizes on memorization of concepts

08 A" XSS &IKS0 By, (FET=I0 5B,

1.
2.

eﬁ"@’goﬁnﬂé DA2TO SKH8o08

RP(BE00DT DANTOR AgHe S g A0S’
GEIRTA0TE0ETLD.

30 200 SEKHODH OIS HLY
30 2 GO WOTOL IS (TS o8.



147.

148.

A record used to record the details of events, scenes and
behavioural changes of students is known as

1.

2.
3.
4.

Portfolio
Observations
Dairy
Anecdotes

DET§EOB $020HORS BOWET), BYITD, (HITIT ST
ASTOK FIT BAswLE IISBPAOT SR JE© 0L

1.

e N

FPEFOS
RLISRION
fefe)
56

“Social Sciences are the body of knowledge and thought
pertaining to human affairs as distinguished from sticks,
stones, stars and physical objects” — Stated by

1.
2.
3.
4.

Kilpatrick
Charles Beard
Billard

Kothari Commission

IS TFeo TOE SHJeo, TG, oo 508 (38580
SIS JAATOL D00HOVIA” @) BRSO

1.

Lol

35 > 5
TR aaoﬁoé
aezg

008 SRS



149. The total marks allotted to “Mapping Skill” in Summative
Assessment in Andhra Pradesh are

OGBS HOYTETS ¥ MHrerfossos” “He FYesgo D
SEa0DS SrEd) e

1. 15
2. 20
3. 25
4. 30

150. These are need to show changes over time
1. Flow charts
2. Bar graphs
3. Venn graphs
4. Pie graphs
SOE0S” ST SO SISHBELD IS

EDTPAID

1 (@IS
e

2. erfrhen

3. BUrRen

4. oo



